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[BEDUCATION

( General )
Paper : 5.2

( Educational Measurement and
Educational Statistics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
| for the questions -

Answer either in English or in Assamese

1. Answer/Fill up the blanks/Write True or
False of the following : 1x10=10
v fauaEd Ter fim/aa M R /e @
oa fad

(a) “Measurement is the assignment of
numerals to objects or events according
to rules.” Who gave this definition?
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(b)

()

(d)

()
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(2)

“A psychological test may be defined as a
pattern of stimuli, selected and organized
to elicit responses which will reveal
action characteristics in the person who
takes them.” Who said this statement?
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“Educational achievement tests are
designed to measure knowledge,
understanding and the skills in specific
subject or group of subjects.” Who gave
this definition?
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Find out the mean from the following
scores :

@ AfRPTEA 4 o Sferea .

40, 50, 55, 78, 58, 60, 73, 35, 43, 48
Evaluation i a process of qualitative
judgement, (True or False)
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(3)

() Face validity 1s an important
characteristic of a good test.
(True or False)

mﬂﬁtﬁmmmwww@mﬁ
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(g) School record card can be considered as
equivalent to the cumulative record card.
(True or False)
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(h) Achievement tests are broadly classified
as and teacher-made test.

(Fill in the blank)

ARl HOrFPTIZE IOl e Pree-
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(ij The X-axis and the Y-axis of a graph are
drawn in the proportion of

(Fill in the blank)
@ @4 @t X- W Y-WS
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() MAT is a/an test.
(Fill in the blank)
MAT b1 SO | (1A 3%« =)

8A/142
{ Turn Over )



ff

(4 )

a. Answer the following briefly : 2%5=10
oo faad Ts Ted il :
(a) Write any two characteristics of

(b)

()

(d)

()

8A/142

measurement.

SR R e o1 CIMEs fora |

Write two differences between
measurement and evaluation.

R S TEEAT A& G5! “A12( foran o

Write two advantages of objective-type
test.

i SerwR o1 fRyr fora |

Mention two types of teacher-made test.

frsafafis wSrpr 'ﬁfl AP TrEYy 9 |

Fir.ud the coefficient of correlation by
using the formula of rank-difference
method from the following data :
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3. Answer any four of the following : 5x4=20
@@ (R R/ e wifave Baq fan

(a) Write about the functions of educational
measurement.

i sfRsreE i@ sreefcd ferdn o

(b) Write five characteristics of evaluation
process.

Tenmes aAfeFs <imor tafEs feran

fc) Write a note on constant error in
measurement.

“f3q1o BN 1 F7F Fo T=oF GBI G o |

(dj What is the validity of a test?
SErEFE Aol 62

(e) What are the characteristics of essay-
type teacher-made test?
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4. (a)

(b)

5. (a)

(b)
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(6 )

Write the advantages of measures of
central tendency.
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Discuss about the various steps of
evaluation process. : 10
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Discuss about the characteristics related
to usability of a good test. 10

451 3-wSrER e o1k A ErR
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What are the differences between general
test and standardized test? 10
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Discuss about the utility of cumulative
record card.

10
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(7))

? Draw a
Wwhat is frequency polygon: % 10
5 olygon from the following table a
zﬁ!’aﬁ’ﬂ g o7 T DT ol T
o1 S 41 ¢ :
C.IL :
(e ww) (T
85-89 2
80-84 3
75-79 3
70-74 12
65-69 9
55-59 3
50-54 4
N =50

Or / 91

(b) Write three merits of median and find out
the median from the following data :

3+7=10
T fofor *{[ﬁm B T e o
Q1 T ﬁcfz;
el f
(C’—'fﬁ? W@?rﬁf) (W\"W)
40-44 e
35-39 3
30-34 %
25-29 .
20-24 10
15-19 5
10-14 4
-9 i
0-4 i
N = 35
8A/142
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( 8) R

). Find out the mean by short method from
7. (a

the following table : 10
@R SRR A¥1 5 Tafed e Sfeea

f
(aﬁlcééw) - (IRT"e)

55-59
50-54
45-49
4044
35-39
30-34
25-29
20-24
15-19
10-14
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(b) Calculate the standard deviation from 3
the following table :

WWWWW{%WW
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127-129
124-126
121-123
118-120
115-117
112-114
109-111
106-108
103-<105
100-102
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